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Eight people P, Q, R, S, T, U, V.and W are sittin

around a circle. All of them are facing the center but

not necessar@l_ln the same order. P is sitting to the

second of T. S is sitting next to the left of R. U is sitting

opposite to W. W is sitting third to theleft of P. R is

aelglhbour of neither W nor T. R is sitting opposite to
Vi
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Eight people P, Q, R, S, T, U, V.and W are sittin
around a circle. All of them are facing the center but
not necessanlgl_ln the same order. P s sitting to the
second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to theleft of P.
R is neighbour of neither W nor T. R is sitting
opposite to Q. Vis not a ne_lﬁhbour of Q.

What is the position of T with respect to R?

1) Immediate left

2) Immediate right

3) Third to the right

4) Third to the le

5) None of the above




SBI CLERK 2023 Previous Year Paper

=

Eight people P, Q, R, S, T, U, V.and W are sittin
around a circle. All of them are facing the center but
not necessan{lsy_ln the same order. P s sitting to the
second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to theleft of P.
R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

Which among the following statement is true?

1) V is sitting fifth to the left of R.

2) P is sitting opposite to R.

3) One person Is sitting between Q and W.
4) R s third to the rlgth of T

S etoV

Q is sitting opposi
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Eight people P, Q, R, S, T, U, V.and W are sittin
around a circle. All of them are facing the center but
not necessan{lsy_m the same order. P s sitting to the
second of T. S is sitting next to the left of R. U is
sitting qpﬁosne to W. W is sitting third to theleft of P.
R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a ne!?hbour of Q.

Who is sitting opposite to T*

OB WN—
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Eight people P, Q, R, S, T, U, V.and W are sittin
around a circle. All of them are facing the center but
not necessanlg_ln the same order. P is sitting to the
second of T. S is sitting next to the left of R. U is
sitting qpﬁosﬂe to W. W is sitting third to theleft of P.
R is neighbour of neither W nor T. R is sitting opposite

to Q. V is not a neighbour of Q. _
Who among the following is sitting next to right of S?

OIRWN=
<—CWX
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=
Eight people P, Q, R, S, T, U, V.and W are sittin
around a circle. All of them are facing the center but
not necessarllgl_ln the same order. P s sitting to the
second of T. S is sitting next to the left of R. U is
sitting QpﬁOSIte to W. W is sitting third to theleft of P.
R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

Oow many persons are sitting between Q and U when
(1:our11ted ffom the left of Q7

O1-ROON
NOW-RW
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Statements:

Some stars are moon.

No moon are sun.

Only a few sun are planet.
Conclusions:

.  Some stars are sun.

. Some planet are sun.

Only | follows
Only |l follows
None follows
Both follow

Either | or |l follow

Q1 -ROWON—-
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Statements: |

All scales are pencil.

Some pencils are pens.
Some pens are not erasers.
Conclusions:

. Some pens are scales.
. Some scales are pencil.

Only | follows.

Only Il follows
Both follow

None follows
Either | or Il follows

Q1 -ROWON—-
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Statements:

No grapes are lemons.

Only a few lemons are apple.

All apple are banana.

Conclusions:

. All lemons are banana.

. Some lemons are not banana.

Only | follows

Only Il follows
Either | or |l follows
None follows

Both follow

Q1 -ROWON—-
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Statements:

Some circle are square.

Only a few square are rectangle.

All circle are friangle.

Conclusions: _ | |

|. All rectangle being circle is a
ossibility. _

ll. Some square are triangle.

Only | follow
Only Il follow
Either | or |l follow

Both follow
None follow

- OWON—-
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Statements:
Only a few tree are sparrow.
Some sparrow are bird.
No pigeon is sparrow.
Conclusions: |

.  Some tree are bird.
Some pigeon are bird.

GIAWN=

Only | follows
Only Il follows
Either | or |l follow
None follows

Both follow
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MNO ABD ATE POT KLO

If the second and the third letters are interchanged
within the given words, then how many words thus

i d will not end with.a vowel? ,

?ﬁ" a 9Iex T & AT THTH Aol
2
3
4
o

1
2
3
4
5
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MNO ABD ATE POT KLO

If words are arranged in the sequence they appear in the
dictionary from left to right, which word is third from the

right end: - v :
TRy ¥ e A
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MNO ABD ATE POT KLO

If S is added in end of the each given
word, how many meaningful words

will be formed? TN
e R ey s 5 S 912

1) No meaningful word will be
formed

2) 1
3) 2
4) 3

4
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MNO ABD ATE POT KLO

If the letters in the %lven words are arranged as they appear in a
dictionary from right to left (within the word), then how many
letters, as Iin the |ISh alphabet are there between the
second letter of the h|rd word from the left end and the second

er of the fo word from t Iefl; end’?
%@%@a@ % am é%ﬁgi%
NIk AL %’ ¥ 9Teq T

T
10

2) 12

3) 13

4) 7

5) None
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MNO ABD ATE POT KLO

If each consonant is changed to the
previous letter in the alphabetic series
and vowel remains the same, then how

Q%n&/?%ogs Qaq\é? re than on% wel?
A T

1

O1RWN)
— AN
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'weather was bad' IS written as 'rz ku st’
'It was raining' is written as ' et wp ku’

'raining very heavily' is written as 'uk vn wp
'weather was balmy' is written as 'ku rz ap’

What is the code for 'weather'?

1) st
2)rz

3
4
5

COAX

u
P
K
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'weather was bad' IS written as 'rz ku st’

'It was raining' is written as ' et wp ku’
'raining very heavily' is written as 'uk vn wp
'weather was balmy' is written as 'ku rz ap’

\1Nhit would be the possible code for 'very'?
u

2)vn

3)ku

4)wp

5) Either 1 or 2




SBI CLERK 2023 Previous Year Paper

'weather was bad' IS written as 'rz ku st’

'it was raining' is written as ' et wp ku’
'raining very heavily' is written as 'uk vn wp
'‘weather was balmy' is written as 'ku rz ap’

If 'very high' is coded as 'uk zi' then what would be the code for 'heavily'?

rz
uk
vn
Wp
st

AAPRLWN -
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weather was bad' IS written as 'rz ku st’

'It was raining' is written as ' et wp ku’
'raining very heavily' is written as 'uk vn wp’
'weather was balmy' is written as 'ku rz ap’

What is the code for ‘it was balmy' ?
1)ap et wp
2) ku wp et
3)ap ku et
4)ap vn uk
5)ap ku rz

=
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Eight friends A, B, C, D, E, F, G and H have to deliver
lectures on either the 6 or 17 of four different months among
January, March, April and July but not necessarily in the
same order. Not more than 2persons will give a lecture in a
month. Only one person will deliver a lecture each day. A
delivers his lecture on the 6 of a month which has only 31
days but not in the month of March. E delivers the lecture
immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F
and C and C is not the last one. The humber of persons who
give the lecture after E is the same as the number of persons
who give the lecture before F. G and C give their lectures in
the same month. D gives the lecture before H.
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%%_B, C, D, E, F, G
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A delivers his lecture on the 6 of a month which has only 31
days but not in the month of March. E delivers the lecture
immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F
and C and C is not the last one. The number of persons who
give the lecture after E is the same as the number of persons
who give the lecture before F. G and C give their lectures in
the same month. D gives the lecture before H.

Who deliver the lecture on 17th April?

1

O1RWN
]w@lvh
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A delivers his lecture on the 6 of a month which has only 31
days but not in the month of March. E delivers the lecture
immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F
and C and C is not the last one. The number of persons who
give the lecture after E is the same as the nhumber of persons
who give the lecture before F. G and C give their lectures in
the same month. D gives the lecture before H. _

Who among the following deliver the lecture mmediately after

D?
1) C
AN
3) G
4) H
5) B
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A delivers his lecture on the 6 of a month which has only 31
days but not in the month of March. E delivers the lecture
immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F
and C and C is not the last one. The number of persons who
give the lecture after E is the same as the humber of persons
who give the lecture before F. G and C give their lectures in
the same month. D gives the lecture before H.

How many lectures delivered after C?

1) Four
2) Two
3) One
4) SiX

5) Five
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A delivers his lecture on the 6 of a month which has only 31
days but not in the month of March. E delivers the lecture
immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F
and C and C is not the last one. The number of persons who
give the lecture after E is the same as the number of

ersons who give the lecture before F. G and C give their
ectures in the same month. D gives the lecture before H.
Who deliver the lecture on 6th March?

1

O1-RWN)
MIOWE
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A delivers his lecture on the 6 of a month which has only 31
days but not in the month of March. E delivers the lecture
immediately after B. Only three lectures were delivered
between A and B. Only fwo persons give lectures between F
and C and C is not the last one. The number of persons who
give the lecture after E is the same as the nhumber of persons
who give the lecture before F. G and C give their lectures in
the same month. D gives the lecture before H.

How many person (s) deliver lectures between B and F?

1) One
2) Two
3) Three
4) Four
5) Five
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. Eight Person P, Q, R, S, T, U, V and W are sitting in a room
in a single row with equal distances between each other, but
not necessarily in the same order. All of them are facing
north direction. Only one person sits between T and P.
Number of persons to the left of Q is one less than to the
right of Q. Two persons sit between T and S. V sits second
to the right of U. T sits immediate left of Q W is not an

imme ate nel bour of V.

{{ﬁsﬁwﬁ ﬁ%%
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Eight Person P, Q, R, S, T, U, V and W are sitting in a room
in a single row with equal distances between each other,
but not necessarily in the same order. All of them are facing
north direction. Only one person sits between T and P.
Number of persons to the left of Q is_ one less than to the
right of Q. Two persons sit between T and S. V sits second
to the right of U. T sits immediate left of Q. W is not an
immediate neighbour of V.

Who sits immediate left of U?

1) P

O1-ROON
<s»PO
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. Eight Person P, Q, R, S, T, U, V and W are sitting in a room
in a single row with equal distances between each other, but
not necessarily in the same order. All of them are facing
north direction. Only one person sits between T and P.
Number of persons to the left of Q is one less than to the
right of Q. Two persons sit between T and S. V sits second
to the right of U. T sits immediate left of Q. W is not an
immediate neighbour of V. _

Which of the following statement is false?

1) P sits at one of end of the row.

2) U sits immediate left of S.

3) There are two persons between U and R.
4) No one sits between W and T.

5) Only one person sits to the right of S.
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. Eight Person P, Q, R, S, T, U, V and W are sitting in a room
in a single row with equal distances between each other, but
not necessarily in the same order. All of them are facing
north direction. Only one person sits between T and P.
Number of persons to the left of Q is one less than to the
right of Q. Two persons sit between T and S. V sits second
to the right of U. T sits immediate left of Q. W is not an
immediate neighbour of V.

How many persons sits between T and R?

1) One
2) Two

3) Three
4) Four
5) No one
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Eight Person P, Q, R, S, T, U, V and W are sitting in a room
in a single row with equal distances between each other, but
not necessarily in the same order. All of them are facing
north direction. Only one person sits between T and P.
Number of persons to the left of Q is one less than to the
right of Q. Two persons sit between T and S. V sits second
to the right of U. T sits immediate left of Q. W is not an
immediate neighbour of V.

Who sits at extreme end of the row?

1

O1-ROON
CHOIS
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. Eight Person P, Q, R, S, T, U, V and W are sitting in a room
in a single row with equal distances between each other, but
not necessarily in the same order. All of them are facing
north direction. Only one person sits between T and P.
Number of persons to the left of Q is one less than to the
right of Q. Two persons sit between T and S. V sits second
to the right of U. T sits immediate left of Q. W is not an
immediate neighbour of V. _

Four of the five are alike in certain way and form a group.
Find the one which does not belongs to the group.

1 W

ST

T
, S
, Q
T

1R WN)
n-C
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If it is possible to make a meaningful word
with the 1st, the 3, the 4 and the 7 letters
of the word ‘COMPUTATION?, then which
of the following will be the 3 letter from the
left of that word? If more than one such
word can be formed give ‘X’ as the
answer and if no such word can be

formed give ‘Y’ as the answer.
%‘ OMP ‘TATI%N' e , e,
ED

I T2 T §
a—«r%@ A eqd X' s
q-%'QYH'%’l 9Teq Al I GohdT g Al ST

% Y
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If it is possible to make a meaningful word with the 1st, the 3,
the 4 ‘and the 7 letters of the word ‘COMPUTATION’, then
which of the following will be the 3 letter from the left of that
word? If more than one such word can be formed give ‘X' as
the answer and if no such word can be formed give ‘Y’ as the
answer.

'C MQPU'I;IA'Il"Ifl)N' Qm%u%%ﬁa%ﬁ sﬁm;{{ ECRE]
TR
STCHFTTH'Y' S|

A

O1IRWN=
V<X
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How many such pairs of letters are there
in the word ‘SUGGESTION’, each of
which has as manyletters between them
in the word (both forward and backward
direction) as they have between them

ienzhe'SEnglisgél_lrﬁ)h?\F%Fig%%eg%?
. REERINRES
i bl

SR

Four

: y
FRy e "
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Six boxes - A, B, C, D, E and F and all of them have different

weights. Box B is not the heaviest. Box A is lighter than only
one Box. Box F is heavier than both C and D. Box D is
heavier than B but not heavy as C. If Box E is the lightest
then which of the following box is exactly between the
heaviest and_the Ilgggrte 1§=10) ¢4

gﬁ%@bq% kIFCIAE$y “DM%S T
é%"aﬁ“&@g' ﬁ@m% %%?%Bs%%« T

F
B
C
D
B

1
2
3
4
5 oth 3 and 4
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There are 6 members of a famil |n a

athering—-P, Q, R, S, T and U.
ather o and marned toQ. Tis
sister in law of U who is a female. P
is daughter of S. S is not marrled to

T.Q has one d#ught r and on

el
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=N
There are 6 members of a family in a 8ather|ng P,QR,S,T
and U.R is father of S and married to Q. T is sister in law of U
who is a female. P is daughter of S. S is not married to T.
R, S

has one dau hier a one s.o%ﬁr (:ST
e eGSR

How S |s related to T?

1) Cannot be determined.
2) Brother

3) Sister

4) Brotherin law

5) Sisterin law
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There are 6 members of a family in a gathering - P, Q, R, S,
T and U.R is father of S and married to Q. T is sister in law of
U who is a female. P is daughter of S. S is not married to T.Q

hasg%eéigég‘;‘%?’o%%g}%p R,S, TARU.R, ST
3T i |Q¥%§ %Qg'(%% 1

Who is the grandmother of P
1) S

2) U

3) Q

4) R

5) None of these
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There are 6 members of a family in a gathering - P, Q, R, S,
T and U.R is father of S and married {0 Q. T is sister in law
of U who is a female. P is daughter of S. S is not married to

T.qugia_rs#ned ught ra%%%?gggog. e .
T O R g g 88

How P is related to T?

1) Daughter

2) Father

3) Sister

4) Niece

5) Sisterin law
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